(‘ ®

Furniture of America MODEL
FM7272-Q

ASSEMBLY _
Questions?

INSTRUCTIONS e U5 CAL

MON-FRI 8:30AM - 5:30PM (PT)

TOOLS REQUIRED

= D

Allen Wrench
(Included)

%

Screwdriver
(Not Included)

2 - People

ASSEMBLY RATING

EASY————DIFFICULT

The Assembly Rating is a
5-point system showing the
level of effort needed to
assemble a specific product.

1/11



2/11



3/11



4711



QUEEN BED

FM7272-Q
PARTS
@ v
HEADBOARD HEADBOARD LEG - L HEADBOARD LEG - R FOOTBOARD

(5) 2pcs (6) 2pcs (7) 2pes 2pes
< >
‘ _

FOOTBOARD LEG SIDE RAIL SUPPORT SIDE RAIL-LEFT SIDE RAIL-RIGHT

(9) 4pes
—

BED SLAT SLAT SUPPORT LAMP PLUG

5/11



HARDWARE
@ 8pcs 4pcs @ 12pcs @ 6pcs

Dhec (o) (o) I () T
BOLT M8 x 20MM BOLT M6 x 15MM BOLT M6 x 35MM BOLT M6 x 50MM

Ows  Qwe  @w @ =
= — =

SPRING WASHER FLAT WASHER ALLEN KEY M5 ALLEN KEY M4
M6 x 12MM M6 x 19MM

o (D) 100
I

CSK SCREW SPANNER 17MM
M4 x 32MM

6/11



1

Part x 1pc

Part X 1pc

Part x 1pc
Hardware X 6pcs
Hardware X 6pcs
Hardware X 6pcs
Hardware X 1lpc

ASSEMBLY INSTRUCTIONS

Part X 2pcs
Hardware X 4pcs

Hardware x 1lpc

7/11




3

Part (#6) x 1pc

Part X 2pcs

Part X 2pcs
Hardware X 8pcs
Hardware X 8pcs
Hardware X 8pcs
Hardware x 1pc

ASSEMBLY INSTRUCTIONS

A4

Part X 1pc

Part x 1pc

Part X 1pc

Part X 2pcs

Part X 2pcs
Hardware X 8pcs
Hardware X 1lpc

8/11




Part (#9) x 4pcs
Part X 4pcs

Hardware X 4pcs
Hardware x 1pc

ASSEMBLY INSTRUCTIONS

- /
/ O/

6
Part X 2pcs
Part X 2pcs
Part X 4pcs
Hardware x 8pcs

9/11




ASSEMBLY INSTRUCTIONS

10/11




ASSEMBLY INSTRUCTIONS

ASSEMBLY
COMPLETED

Please ensure the
furniture rests on an even
and flat surface. If the
product wobbles or feels
loose, double-check all
bolts and/or screw are
properly tightened and
secured.

@ Keep this handy!

Please retain this instruction
manual and any order-related
information for future reference.

@ Lift, don't drag!

To avoid damage to product
please always LIFT the product
when transporting of adjusting
the placement.

This product is intended for RESIDENTIAL USE ONLY and not for commercial use.
11/11




